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representation to be parsed
radix the radix to be used while parsing <code>s</code>.
the integer represented by the stringargumentin the
ified radix.
NumberFormatException if the <code>String</code>

< Sint< >

public static int parselnt(String s, int radix)
throws NumberFormatException
{
if (s==null) {
throw new NumberFormatException("null");

}

if (radix < Character. MIN_RADIX) {
throw new NumberFormatException("radix " + radix +

" less than Character. MIN_RADIX");
B
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inti=0, max=s.length();
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neg =true;
limit = Integer.MIN_VALUE;
Yelse { o
M -— limit =-Integer.MAX_VALUE;
price = Integer.parselnt(args[0]) :
multmin = limit / radix;
if (i < max){
digit = Character.digit(s.charAt(i++),radix);
if (digit<0) {
‘throw NumberFormatException.forlnputString(s);
yelse {
result =-digit;
}

while (i < max) {
// Accumulating negatively avoids surprises near MAX_VARUE
digit = Character.digit(s.charAt{i++),radix);
if (digit<0) {
throw NumberFormatException.forlnputString(s);

if (result < multmin) {
throw NumberFormatException.forlnputString(s);

}

result *=radix;

if (result <limit + digit) {
‘throw NumberFormatExcep

n.forinputString(s);

}
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return -result; ‘ '
— )
}

Jxe
* Parses the string argument as a signed decimal integer. The

* characters in the string must all be decimal digits, except that

* the first character may be an ASCII minus sign <code>'-'</code>

* (<code>'&#92;u002D'</code>) to indicate a negative value. The resulting
* integer value is returned, exactly as if the argument and the radix
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static void printTax(int x)

{

int pricewithtax;
pricewithtax = (int)(x * 1.05);
System.out.printIn("FA : " + pricewithtax + "F");
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price = Integer.parselnt("1000");
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public stati¢ int parselnt(String s)
{
int result|= 0;
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return result;
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public static int parselnt(String s)
{

int result = 0;

return result;

.

return x; G, Xz RYEELLTHEVHELITANIRL, AYYRERT TS
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price = Integer.parselnt("1000");
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price = 1000;
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//290)1|E75\Bj(=él,\7'57&5@’§'}‘/‘y|: inta=1;
static int max(int a, int b) intb=5;
. int ¢ = 3;
if (a> b) int max;
return a;
else max = max(a, max(b, c));
return b; -3
J 5

max = 5;
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static int dbs(int x)

{

xDFEAXEZETE;
return 558 ;
}
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>java TaxChange 100 1000
FiaA : 105
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